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iF— 231 831, 600 36x231

p 3151 1,134,000 36x315

= 121 435, 600 36x121

eyl 14 50, 400 36x 14

FER 3 10, 800 36x 3

FE— 32 115, 200 36x 32

FEZ 36 129, 600 36x 36

FE= 17 61, 200 36x 17

ZFEM 2 1,200 36x 2

— 23 82, 800 36x 23

- 34 122, 400 36x 34

= 12 43, 200 36x 12

F O 9 32,400 36x 9

20— 125| 450,000 36x125

FOZ 188 676, 800 36x188
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BO= 19 68, 400 36x 19
BEE— 5 18, 000 36x 5
BB 2 7, 200 36x 2
B 5 18, 000 36x 5
B 1 39, 600 36x 11
B — 5 18, 000 36x 5
(= 7 25, 200 36x 7
B = 6 21, 600 36x 6
BEOH 2 7,200 36x 2
F5O— 44| 158,400 36x 44
5O 41 147, 600 36x 41
EO= 28| 100, 800 36x 28
EOM 13 46, 800 36x 13
B 4 14, 400 36x 4
BO— 1 3, 600 36x 1
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20> 4 14, 400 36x 4
R 10 36, 000 36x 10
2 5 18, 000 36x 5
B2 61 219, 600 36x 61
2= 30| 108,000 36x 30
2 8 28, 800 36x 8
B— 54| 194, 400 36x 54
B 25 90, 000 36x 25
BE— 12 43, 200 36x 12
BE= 4 14, 400 36x 4
BO— 37 133, 200 36x 37
BOZ 2 1,200 36x 2
<O— 22 | 79, 200 36x 22
<O= 14 50, 400 36x 14
O 5 18, 000 36x 5
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O— 151 543, 600 36x151
o= 157 565, 200 36x157
o= 24 86, 400 36x 24
KOt 109 392, 400 36x109
XO— 116 417, 600 36x116
XKO= 7 25, 200 36x 7
F— 35 126, 000 36x 35
F= ] 25, 200 36x 7
A — 39 140, 400 36x 39
= 5 18, 000 36x 5
Y= 3 10, 800 36x 3
Ky — 10 36, 000 36x 10
v F— 5 18, 000 36x 5
YFZ 3 10, 800 36x 3
cC= 2 7,200 36x 2
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C M 2 7,200 36x 2
CEZ 9 32,400 36x 9
Al = 12 43, 200 36x 12
A< — 2 7,200 36x 2
A= 3 10, 800 36x 3
A= 9 32,400 36x 9
Rl < 5 18, 000 36x 5
IE= 2 1,200 36x 2
& i 2 365| 8,514,000 | X#&(2,365)
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